9 |27 X0= 2 _07=03

3 |12°= a =10 = 6200

7 |17+7=4X 8 |(14-4+(7-2)=

9 | 34.2983 X 100 = 10 %X;_:

_ 3 7 ) _
i =5 71 12 ﬁOfSO—
13|17+27 = 14 | 934+ 26 — 485 =
15 = 732183 — 4468 1Bl6+32+-7+2)=

Arithmaetic Practice Tests YEAR 6 © Rising Stars UK Ltd. 2015




Summer Test 4 (coﬁtinued)

17 [ 35— 1% = 8 41837

9 +++-= 20002 x 4=

21 | 40% of 250 = 22 = 4000 — 2472

O &

23101 X6= 24 | 1496 =8 X

O &

25 | 9876 + =6 26 | 34 l 9656 (2 marks)

O U

9346 ‘
27 |x 47 @mars) | | DG | 0,07 X 2 =
4 ™
Total marrks /30
N\ _J
How We" did YQU do? + with correct place value 14 |15
Colour the numbers of the = with zeros 22
questions you gof correct. +orxby10,1000r1000 [ 4 | 9
Long X and long + 26127
+ with decimal remainders | 18
Fractions 610112113117 119
Percentuges of amounts 21
Missing numbers 214 5]7]24]25
Brackets and BIDMAS 8 11416
4+ 23171134 ]16]19
- 618 | N{¥M|15]|17122
X Ti3(419]|w|12i16]|20]21§23]27]728
+ 5178121618121 |24]25}26
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